Orebridgen
Partavling med hcp 2024-02-05

Partavling, 22 bord, 44 par. Antal brickor: 24. Medel: 504.0.

Plac Par Poang % Namn MID Klubb
1 42 630.4 62.54  Per-Arne Pettersson - Goéran Sandahl 10898 33497  Orebridgen
2 44 597.5 59.28  Bjorn Melander - Ulla Ward 85208 200633  Orebridgen
3 47 590.9 58.62  Helena Almer - Birgitta Pedersen 68229 67354  Orebridgen
4 36 573.0 56.85 Dejana Sverker - Anders Falling 50940 60126  Orebridgen - Nora BK
5 4 565.5 56.10 Eva Wahlstrom - Jan Lindgren 200629 90754 Orebridgen
6 5 565.4 56.09  Christer Wikstrém - Birgitta Akerstedt 61089 59645  Orebridgen
7 15 565.1 56.06 Charlie Rétto - Inger Bredenberg 79358 61466 Orebridgen
8 3 559.5 55.51  Britt Wirmark - Lena Rohlén 60291 61013  Orebridgen
9 9 556.6 55.22  Gunilla Bergman - Margareta Bjorklund 59000 55868 Orebridgen
10 11 556.1 55.17  Krister Faltmyr - Monica Faltmyr 53615 53616  Orebridgen
11 1 550.2 54.58 Barbro Landstrom - Daga Kasner 67844 23427 Orebridgen
12 10 549.0 54.47  Lillemor Ruuth - Kajsa Classon 200632 200634  Orebridgen
13 14 540.9 53.66  Catarina lvarsson - Ove Pettersson 66091 61003  Kumla BS - Orebridgen
14 18 532.0 52.78  Roland Nilsson - Hans Hofvander 60078 61009  Orebridgen - Kumla BS
15 51 528.9 52.47  Tony Bergman - Per-Arne Johnson 55871 55873  Orebridgen
16 33 526.8 52.26  Helena Nyrén - Jan Nyrén 89541 89540  Orebridgen
17 52 526.2 52.20 Thomas Tillander - J6rgen Pedersen 48512 64550 Orebridgen
18 6 521.9 51.77  Wenche Jarhede - Ing-Britt Georgsson 55840 48438 Orebridgen
19 20 514.5 51.04 Irena Otto - Birgitta Ekstrom 60413 53611  Orebridgen
20 38 512.0 50.79  Bo Eriksson - Lennart Karlsson 64133 20037 Orebridgen - Axbergs BK
21 21 511.6 50.75  Gunnel Hahne - Teddy Kérrman 66134 64973  Orebridgen
22 13 509.6 50.56 Lars Thorsell - Per-Ake Sjokvist 49055 49054  Orebridgen
23 8 507.7 50.36  Jarmo Verta - Ulf Lindskold 202101 202100  Orebridgen
24 19 496.2 49.23  Gunilla Hedqvist - Gunnel Degrell 91328 45491 Orebridgen
25 48 488.1 48.42  Kerstin Hollertz - Arne Hollertz 47333 47334  Orebridgen
26 2 487.2 48.34  Goran Lindberg - UIf Hultberg 42348 54340 Orebridgen
27 46 486.5 48.26  Gunnar Karlsson - Heinz Kogler 64134 63416 Orebridgen
28 49 485.6 48.18  Benny Blankner - Anders Nordlund 63425 62343  Orebridgen
29 31 484.2 48.04  Magnus Persson - Runa Persson 87044 8000 Arboga BK
30 39 482.3 47.85  Gun Ekstrom - Jan Grundin 82241 91360  Orebridgen
31 43 481.0 47.72  Matilda Olsson - Ellen Haglund 201676 200640  Orebridgen
32 17 479.0 47.51 Inger Strandberg - Astrid Blomgren 29222 29223 Orebridgen
33 40 470.8 46.71  Karl-Erik Nilsson - Sture Persson 46221 37152  Orebridgen
34 35 468.5 46.48  Kerstin Lindgvist - Anita Etzler 49029 34983  Orebridgen
35 50 466.7 46.30  Malin Myhrberg - Borje Andersson 202617 28223 Orebridgen
36 45 466.6 46.29  Bertil Borgenkrantz - Bjorn Pettersson 68230 68231 Orebridgen
37 37 461.8 45.82  Ulf Norberg - Lars Hjelm 62102 38864  Orebridgen
38 41 458.1 45.44  Erik Spangberg - Jan Murman 140 49030 Orebridgen
39 7 432.9 42.95  Arne Zimmermann - Bjorn Hedlund 62103 58416  Orebridgen
40 16 431.6 42.82  Gunilla Moritzen - Inger Martensson 61004 60408  Orebridgen
41 32 410.3 40.70  Jarl Jénsson - Ann Johansson 32936 32933  Orebridgen
42 12 389.3 38.62  Britt-Marie Gunnarson - Ulla Wickberg 25908 61475 Orebridgen
43 22 387.6 38.46  Bertil Blomguvist - Anki Johansson 7823 29219  Orebridgen
44 34 370.4 36.74  Siv Henriksson - Viola Arnoldsson 201374 201982  Orebridgen
1 4 E85 Basta kontrakt 2 4 KD4 Basta kontrakt 3 4 K973 Basta kontrakt
Nord v Kn9876 2NT O =-120 Ost v 108654 7NT O =-1520 |Syd vD6 3NT S =400
Ingen 94 NS +95 ov + D1087
#KKn8 & ¢ v & NT «D97 & ¢ v & NT #Kn72 & ¢ v aN
& KKn9 41064 N54654 41052 ~E6 NOO340 4 Kné5 « D82 N79799
vD103 v42 S54654 vD9 v EKKn S00340 vK108542 v73 S79799
¢ Kn10763 ¢ EK52 089778 ¢ EKn7642 ¢ K10 O 13139 9 13 ¢ E6 ¢ Kn53 06 46 44
*E7 #D1052 V897738 »106 #EKKn853 Vv 13139 9 13 «D9 #K10853 V64644
4 D732 4 Kn9873 «E104
v EK5 v732 v EKn9
+ D8 + D83 + K942
#9643 *42 *E64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 2 Pass 420 00| 9 17 4NO-2 3 100 410 10| 4 17 3NS+1 v5 430 420 0.0
11 6 2v N-1 ¢ A -50 390 3.0(37 43 3NO-2 43 100 410 10| 8 14 3NS= v8 400 400 20
22 21 2v N-1 ¢ A -50 39.0 3.0(10 19 3NO-1 43 50 36.0 6.0(15 3 INS+4 v2 210 370 50
7 13 2¢ V= v8 90 330 9.0(39 47 2NO-1 43 50 36.0 6.0(42 37 2NS+3 v38 210 37.0 50
8 15 INO= a2 90 330 9.0(40 49 3NO-1 a7 50 36.0 6.0[21 20 2v V-2 *T 200 340 80
34 48 2¢ V= v7 90 330 9.0(22 21 INO+1 43 -120 32.0 10.0| 1 11 2NS+2 v2 180 29.0 13.0
38 45 2¢ V= *J 90 330 9.0(33 46 24 O+3 43 -150 30.0 12.0| 5 19 INS+3 v8 180 29.0 13.0
9 17 INN-2 *2 -100 26.0 16.0| 4 18 54O = 43 -400 27.0 15.0|22 6 INS+3 v2 180 29.0 13.0
33 46 2v N-2 ¢ A -100 26.0 16.0|11 6 3NO= a7 -400 27.0 15.0|32 43 INS+3 v4 180 29.0 13.0
44 32 2v N-2 ¢ A -100 26.0 16.0| 3 16 3NV +1 a4 -430 24.0 18.0|38 44 34 N= v7 140 23.0 19.0
112 3¢ V= v9 -110 18.0 24.0|50 35 3NO+2 43 -460 22.0 20.0|51 50 24 S+1 ¢ A 140 23.0 19.0
3 16 3¢ V= oA -110 18.0 24.0| 1 12 3NO+3 43 -490 14.0 28.0|34 47 INS+1 v2 120 19.0 23.0
20 5 2¢ V+1 s A -110 18.0 24.0| 8 15 3NO+3 &7 -490 14.0 28.0|39 46 INS+1 v2 120 19.0 23.0
40 49 3¢ V= v8 -110 18.0 24.0|14 2 3NO+3 43 -490 14.0 28.0|31 41 24 N= v7 110 16.0 26.0
50 35 2¢ V+1 oA -110 18.0 24.0|/20 5 3NO+3 a7 -490 14.0 28.0| 9 16 INS= vT 90 14.0 28.0
37 43 INO+1 42 -120  11.0 31.0|34 48 3NO+3 43 -490 14.0 28.0| 2 13 INS-1 v4 -50 8.0 34.0
52 51 INO+1 43 -120 11.0 31.0|41 36 3NO+3 43 -490 14.0 28.0|10 18 3NS-1 v8 -50 8.0 34.0
4 18 3¢ V+1 s A -130 8.0 34.0(52 51 3NO+3 43 -490 14.0 28.0|35 49 34 N-1 v3 -50 8.0 34.0
10 19 INV +2 8 -150 50 37.0| 7 13 3NO+4 &7 -520 4.0 38.0|40 48 INS-1 v5 -50 8.0 34.0
41 36 INO+2 3 -150 5.0 37.0|31 42 3NO+4 v2 -520 4.0 38.0|45 33 3NS-1 v4 -50 8.0 34.0
31 42 4v N-4 ¢ A -200 1.0 41.0(38 45 3NO+4 43 520 4.0 38.0|12 7 24 S-2 v5 -100 2.0 40.0
39 47 3v N4 ¢ A -200 1.0 410(44 32 6NO= 49 -990 0.0 42.0|52 36 2y V= 43 -110 0.0 42.0
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4 497 Basta kontrakt 5 484 Basta kontrakt 6 & Kn432 Basta kontrakt
Vast v EKn10983 44 V D -1 200 Nord v Kn1087 44 O =-420 Ost v D94 4¢ O =-130
Alla +109 NS ¢ D542 ov +5
#1095 & ¢ v & NT *K62 & ¢ v & NT «D8732 & ¢ v & NT
«Knl1082 4ED54 N 3 6 103 4 2 ED9752 4Knl0 N455 33 «E5 «D1096 N6 2665
v- v K5 S 3 6 103 4 vK v E9652 S$55534 v53 v EKn62 S6 2665
+ D64 ¢ 8532 0973938 ¢ KKn 49863 08 7 8 109 +D6432 ¢ E1087 o7 107 7 7
#D86432 #EKKn V973938 #E1093  #Kn4 vV 8 7 8 109 #EKN109 #5 vV 7107 77
4 K63 4 K63 4 K87
vD7642 v D43 v K1087
¢ EKKn7 + E107 + KKn9
»7 *D875 *K64
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
38 44 AvDN+1 #A 990 420 00| 2 12 1a V+2 v7 -140 37.0 5.0|39 45 5¢DV-3 &3 800 42.0 0.0
12 7 4¢DS= &) 790 380 40| 3 14 34 V= *6 -140 37.0 5.0|20 19 5¢ O-2 *4 200 39.0 3.0
31 41 4vyDN= #A 790 380 40|13 8 24 V+1 v7 -140 37.0 5.0(|43 38 3NV-2 *2 200 39.0 3.0
42 37 AvDN= aA 790 380 40(21 6 24 V+1 vJ -140 370 50| 2 12 3¢ O-1 v8 100 340 80
111 4vS+1 *Q 650 340 8035 48 1a V+2 *K -140 370 50| 5 18 3¢ O-1 v8 100 340 80
9 16 4v N= *A 620 30.0 12.0|46 34 1a V+2 vJ -140 37.0 50|46 34 4¢ O-1 v8 100 340 80
15 3 4vN= *A 620 30.0 120 9 15 24 V+2 *2 -170  22.0 200|221 6 1lv S-1 s A -50 30.0 120
22 6 4v S= *6 620 30.0 12.0(10 17 34 V+1 *2 -170  22.0 20.0|50 49 14 O= +9 -80 28.0 14.0
40 48 54DV-1 vA 200 26.0 16.0|11 7 24 V+2 »6 -170 22.0 20.0|11 7 2vS-2 s A -100 25.0 17.0
4 17 2v S+2 28 170 20.0 22.0|20 19 24 V+2 *2 -170  22.0 20.0|13 8 3v S-2 s A -100 25.0 17.0
5 19 3v S+l 8 170 20.0 22.0|31 52 1a V+3 vJ -170  22.0 20.0| 9 15 34 O= v8 -110 21.0 21.0
21 20 3v S+1 ¢4 170 20.0 22.0(33 44 24 V+2 v8 -170 22.0 20.0|41 37 34 O= v5 -110 21.0 21.0
45 33 3v S+1 +4 170 20.0 22.0|39 45 24 V+2 v8 -170 22.0 20.0| 1 22 3¢ V+1 &7 -130 15.0 27.0
52 36 3v N+1  #A 170 20.0 22.0|40 47 24 V+2 vlJ -170  22.0 20.0|10 17 3¢ V+1 v4 -130 15.0 27.0
2 13 2y N+1  #A 140 14.0 28.0|41 37 1a V+3 vJ -170  22.0 20.0|32 42 3¢ O+1 &7 -130 15.0 27.0
8 14 24 O-1 +K 100 11.0 31.0| 1 22 1aV+4 &2 -200 11.0 31.0|33 44 3¢ V+1 v4 -130 15.0 27.0
35 49 44 V-1 vA 100 11.0 31.0|43 38 34 V+2 *2 -200 11.0 31.0|16 4 3¢ V+2 vQ -150 7.0 35.0
51 50 24 O= *A -110 80 340| 5 18 44 V= vJ -420 4.0 38.0|35 48 INV+2 *2 -150 7.0 35.0
32 43 INO+1 v4 -120 6.0 36.0|16 4 4a4 V= v8 -420 4.0 38.0|40 47 INS-3 2 -150 7.0 35.0
39 46 34 O= ¢ A -140 4.0 38.0|32 42 44 V= ¢4 -420 4.0 38.0|51 36 3v S-3 2 -150 7.0 35.0
10 18 44 O= v2 -620 2.0 40.0(50 49 44 V= v8 -420 4.0 38.0| 3 14 3NV +2 *2 -660 2.0 40.0
34 47 3NO+1 ¢A -630 0.0 42.0|51 36 44 V= +4 -420 4.0 38.0|31 52 4¢vDS-4 4A -800 0.0 42.0
7 #1032 Bésta kontrakt 8 « DKn105 Bésta kontrakt 9 4754 Bésta kontrakt
Syd vED7 2%V =-90 Vast v D64 3¢ V =-110 Nord v D96 5¢ O =-650
Alla + Kn973 Ingen + 108 ov + E1098
*E84 & ¢ v & NT #D932 & ¢ v o NT #983 & ¢ v & NT
D9 « KKng4 N57 766 492 ~E3 N33676 4E963 4 KDKn10 N33623
v102 v KKn95 S57 666 v EKn92 v 107 S34676 vKKn42 v7 S33623
¢KD1082 +6 0866 77 +E ¢DKn96532 09 9 6 5 5 ¢ KDKn3 ¢ 752 09 107 119
#D765 #Kn1092 V86677 #EKn10854 76 V99655 *Kn #EK1054 vV 9 107 119
«E765 « K8764 » 82
v 8643 v K853 v E10853
¢+ E54 ¢+ K74 +64
*K3 *K *D762
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
40 46 2v S+1 +K 140 420 00| 6 20 5+V-3 +Q 150 420 0018 17 24 O+1 8 -140 42.0 0.0
36 50 2NS= +K 120 400 20|36 50 34 S= ¢ A 140 380 4.0(15 10 INV+2 +8 -150 40.0 2.0
47 35 2#0-1 ¢ A 100 380 40|42 38 34 S= ¢ A 140 380 40| 4 14 2NV +2 *9 -180 38.0 4.0
52 37 1lv S= *5 80 36.0 6.0(52 37 34 S= ¢ A 140 380 40| 7 21 3NV= *9 -600 36.0 6.0
2 11 Pass 23.0 19.0|10 16 24 S= ¢+ A 110 340 80| 1 20 44 0= +6 -620 29.0 13.0
3 13 Pass 23.0 19.0|34 45 3NV-2 2Q 100 320 100 3 12 44 O= +6 -620 29.0 13.0
6 20 Pass 23.0 190| 1 21 2v V-1 *T 50 27.0 150| 5 16 44 O= v3 -620 29.0 13.0
10 16 Pass 23.0 19.0| 3 13 3aV-1 *T 50 27.0 15.0| 6 19 44 O= +4 -620 29.0 13.0
12 8 Pass 23.0 19.0| 4 15 4¢ O-1 *K 50 27.0 15.0|36 49 44 O= vA -620 29.0 13.0
14 9 Pass 23.0 19.0|44 39 4¢ O-1 LY 50 27.0 15.0|41 38 44 O= +6 -620 29.0 13.0
17 5 Pass 23.0 19.0|19 18 28 V= oT 90 220 20.0(13 9 3NV+1 +8 -630 19.0 23.0
19 18 Pass 23.0 19.0| 2 11 34 S-2 ¢ A -100  20.0 22.0|32 52 3NV +1 v6 -630 19.0 23.0
33 43 Pass 23.0 19.0|12 8 3#V-= 2Q -110 11.0 31.0|35 46 3NO+1 ¢3 -630 19.0 23.0
34 45 Pass 23.0 19.0|17 5 3¢ O= a4 -110 11.0 31.0|45 40 3NO+1 &6 -630 19.0 23.0
42 38 Pass 23.0 19.0|31 51 3¢+ O= a4 -110 11.0 31.0| 2 22 54 V= vA -650 8.0 34.0
44 39 Pass 23.0 19.0|32 41 34 O= a7 -110 11.0 31.0|11 8 54 V= ¢ A -650 8.0 34.0
121 2¢S-1 &5 -100 8.0 34.0|33 43 3+ V= «Q -110 11.0 31.0|31 50 54 O= +6 -650 8.0 34.0
22 7 INS-1 +8 -100 8.0 34.0|40 46 3¢ O= a7 -110 11.0 31.0|33 42 44 V+1 vA -650 8.0 34.0
49 48 INN-1 a4 -100 8.0 34.0|47 35 3¢ O= *K -110 11.0 31.0|37 51 44 V+1 +6 -650 8.0 34.0
32 41 INV+1 +3 120 4.0 38.0|49 48 3 V= oT -110 11.0 31.0|43 39 44 O+1 +6 -650 8.0 34.0
4 15 3NS-3 2 -300 10 410(14 9 3¢ O+1 &7 -130 1.0 41.0(48 47 44 O+l vA -650 8.0 34.0
31 51 3NN-3 *J -300 10 410(22 7 3#V+1 +Q -130 1.0 410(34 44 44 O+2 +6 -680 0.0 42.0
10 4 Kn86 Basta kontrakt 11 4 D10985 Basta kontrakt 12 4 KD2 Basta kontrakt
Ost v D104 44 O =-620 Syd v 65 44 S D -1-100 Vast v 106543 5NTV =-460
Alla ¢ 7654 Ingen +8 NS *2
#Kn83 & ¢ v & NT #K10752 & ¢ v & NT »D984 & ¢ v & NT
2973 4 EK42 N3 4534 «EKn632 4K N9 6 266 10954 4E87 N525 22
vK63 vKn5 S34534 vE1072 v DKn843 S96 266 vE9 v KKn7 S52522
¢ED3 ¢ KKn2 O 109 8 108 + K9 ¢Kn10643 0O 4 7 9 6 7 ¢+ ED83 ¢ K10765 08 117 1110
#K964 #E1052 V 109 8 108 *D6 *84 V4a798¢67 #EK3  &Kn6 vV 8 118 1111
D105 a74 & Kn63
v E9872 v K9 v D82
41098 ¢ ED752 + Kn94
*D7 #EKn93 #10752
Par  Kontr Ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
36 49 6NO -4 vA 400 420 0033 41 24 S+3 4A 150 410 10| 2 21 3¢ V+1 *8 -130 410 1.0
3 12 3NO-1 v2 100 36.0 6.0(37 50 4% S+1 vA 150 410 10| 4 13 3¢ V+1 oK -130 410 1.0
4 14 3NO-1 v7 100 36.0 6.0| 4 13 44S= v2 130 380 40| 1 19 3NV+1 a2 -430 33.0 9.0
6 19 3NO-1 v2 100 36.0 60| 8 22 34S= a A 110 36.0 6.0[14 10 3NV +1 v5 -430 33.0 9.0
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31 50 3NO-1 vA 100 36.0 60| 5 15 3v V-2 +8 100 330 9.0(17 16 3NV +1 &4 -430 33.0 9.0
43 39 3NO-1 v7 100 36.0 6.0[42 39 4v V-2 +8 100 330 9.0(18 6 3NV+1 v3 -430 33.0 9.0
35 46 3+ 0= v2 -110 30.0 12.0| 2 21 24 V-1 +8 50 26.0 16.0 (31 49 3NV +1 v3 -430 33.0 9.0
7 21 INO+1 w7 -120 27.0 15.0| 3 11 3v V-1 *2 50 26.0 16.0|33 41 3NV +1 a K -430 33.0 9.0
48 47 2NO= v7 -120 27.0 15.0|17 16 3v V-1 +8 50 26.0 16.0| 3 11 3NV +2 *8 -460 13.0 29.0
41 38 3+ V+1 v4 -130 24.0 18.0|34 43 4v V-1 +8 50 260 16.0 5 15 3NV +2 v4 -460 13.0 29.0
120 3NO= *T -600 13.0 29.0|47 46 1a V-1 +8 50 26.0 16.0| 7 20 3NV +2 &4 -460 13.0 29.0
2 22 3NV= v7 -600 13.0 29.0|14 10 34 S-1 s A -50 20.0 22.0| 8 22 3NV +2 *8 -460 13.0 29.0
5 16 3NO= v7 -600 13.0 290| 1 19 3vO= a7 -140 140 28.0|12 9 3NV +2 v3 -460 13.0 29.0
11 8 3NO= v2 -600 13.0 29.0|12 9 2v V+1 +8 -140 14.0 28.0|32 51 3NV +2 v4 -460 13.0 29.0
13 9 3NO= v2 -600 13.0 29.0|35 45 3v V= *K -140 14.0 28.0|34 43 3NV +2 v3 -460 13.0 29.0
15 10 3NO= v2 -600 13.0 29.0|38 52 3v V= +8 -140 14.0 28.0(35 45 3NV +2 *4 -460 13.0 29.0
18 17 3NO= v7 -600 13.0 29.0|48 36 3v O= +8 -140 14.0 28.0|37 50 3NO+2 &4 -460 13.0 29.0
32 52 3NO = v7 -600 13.0 29.0| 7 20 5# N-3 oK -150 8.0 34.0|38 52 3NV +2 v3 -460 13.0 29.0
34 44 3NO= v2 -600 13.0 29.0(44 40 3v V+1 +8 -170 6.0 36.0|42 39 3NV+2 v3 -460 13.0 29.0
45 40 3NO= *T -600 13.0 29.0|32 51 INO+3 45 -180 4.0 38.0|44 40 3NV +2 v4 -460 13.0 29.0
33 42 3NO+1 v2 -630 10 410(18 6 54DS-2 aA -300 1.0 41.0(47 46 3NV +2 &4 -460 13.0 29.0
37 51 3NO+1 v2 -630 10 410(31 49 54DN-2 &K -300 1.0 41.0(48 36 3NV +2 oK -460 13.0 29.0
13 4 K2 Basta kontrakt 14 4 E1042 Basta kontrakt 15 4 KD94 Basta kontrakt
Nord v Kn972 4v N =620 Ost v D92 4v S =420 Syd v 964 3¢ VD-1100
Alla + E874 Ingen + ED62 NS + Kn63
*E75 & ¢ v & NT +Kn10 & ¢ v & NT *EK9 & ¢ v & NT
4743 «D1065 N9 6 109 8 87653 4 Kn9 N 5 10108 8 «Knl1072 4863 N8 5867
vE10 v KD5 S 9 6 109 8 v1043 v76 S 5 10108 8 v EKn vD1073 S$85867
¢ KDKn103 ¢ 952 046 345 ¢+ Kn ¢ K843 083153 ¢ EK54 ¢+ D1097 048565
*Kn86 #1032 V46345 D642 #EK753 V83153 #D65 *87 V48566
& EKn98 «KD 4 E5
v 8643 v EKKn85 v K852
+6 410975 +82
+KD9%4 »98 #Kn10432
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
33 52 4v S+ ¢+ K 650 420 00| 4 12 4v S+2 +J 480 400 20|20 8 2#S= +K 90 42.0 0.0
4 12 4v N= 2 620 39.0 3.0(32 50 4v S+2 +J 480 40.0 20|33 51 INV-1 &K 50 39.0 3.0
38 51 4v S= +K 620 39.0 3.0(36 47 4v N+2 +J 480 400 20|47 31 3¢ V-1 &A 50 39.0 30
49 37 3NS= *T 600 36.0 6.0 8 21 4v S+1 *2 450 350 70| 5 13 1e V= *A -70 36.0 6.0
39 41 14 O-2 +6 200 340 80(39 41 4v S+1 &4 450 350 70| 6 16 INV= *A -90 25.0 17.0
2 20 3y N+1 46 170 28.0 14.0|43 40 3NN+1 L) 430 320 100 9 22 INV= +K 90 25.0 17.0
6 17 2v S+2 +K 170 28.0 140| 3 22 4v S= +J 420 29.0 13.0|17 1 INV= a4 90 25.0 17.0
16 15 3vy N+1 &5 170 28.0 14.0(46 45 4v S= *2 420 29.0 13.0|119 2 INV= *A -90 25.0 17.0
19 7 29y N+2 45 170 28.0 14.0|33 52 2v S+4 +4 230 26.0 16.0|36 46 INV= v9 90 25.0 17.0
36 47 2v S+2 *T 170 28.0 14.0|16 15 3v S+1 +J 170 23.0 19.0|37 48 INV= a4 90 25.0 17.0
5 14 2v S+1 *T 140 21.0 21.0|19 7 3v S+l *J 170 23.0 19.0(40 42 INO= a4 -90 25.0 17.0
32 50 3v N= 46 140 21.0 21.0|35 44 3v S= *4 140 20.0 22.0|45 44 2¢ V= &A 90 25.0 17.0
9 11 INN+1 46 120 150 27.0|18 1 3¢ N+1  #A 130 18.0 24.0|49 32 INV= 49 90 25.0 17.0
34 42 INN+1 *2 120 150 27.0|13 10 2NN= *A 120 16.0 26.0|50 38 INV= A -90 25.0 17.0
43 40 INN+1 46 120 150 27.0|38 51 3¢ S= *4 110 140 28.0| 3 21 3¢ V= &A -110 13.0 29.0
48 31 INN+1 46 120 150 27.0| 5 14 4v S-1 *Q -50 9.0 33.0| 7 18 3¢ V= *A -110 13.0 29.0
13 10 2# S+1 vA 110 100 320 6 17 4v S-1 +J -50 9.0 33.0| 4 11 INV+1 Ly -120 8.0 34.0
3 22 3NS-1 +K -100 6.0 36.0|34 42 4v S-1 +J -50 9.0 33.0{10 12 INV+1 &K -120 8.0 34.0
8 21 3NN-1 +9 -100 6.0 36.0|48 31 5vS-1 *2 -50 9.0 33.0|35 43 INV+1 a4 -120 8.0 34.0
18 1 3vyN-1 a5 -100 6.0 36.0| 2 20 4v S-2 +J -100 2.0 40.0|15 14 2#S-2 vA -200 40 38.0
35 44 2NS-2 *T -200 1.0 410( 9 11 4v S-2 +J -100 2.0 40.0|34 41 3NV +1 a4 -430 2.0 40.0
46 45 3NN-2 *2 -200 1.0 410(49 37 3vS-2 +J -100 2.0 40.0|39 52 44DS-3 +A -800 0.0 42.0
16 +E8 Basta kontrakt 17 4743 Basta kontrakt 18 & D7542 Basta kontrakt
Vast v Kn105 6y N =980 Nord v EKD832 6v N D -4 -800 Ost v K105 2¢ O =-90
ov * K7 Ingen + Kn86 NS + Kn1063
#EKn10874 & ¢ v & NT »5 & ¢ v & NT *7 & ¢ v & NT
29754 4Knl0632 N 9 10127 10 « KD96 «E10 N20800O0 210863 «K9 N6 5776
v 84 v32 S 9 10127 10 v 109 v4 S20800 v 962 v EKn8 S65776
¢ E1098 ¢ Kn6 04316 3 ¢ E4 ¢D1097532 O 11125 9 7 ¢ED 4987542 06 86 6 7
#653 2#KD92 V43163 #EKn863 #D74 V 11125 9 7 #DKn84 #E5 V67567
« KD # Kn852 # EKn
v EKD976 v Kn765 vD743
¢ D5432 + K + K
*- #K1092 #K109632
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
9 22 6y S= ¢ A 980 410 10| 6 15 3vS= *4 140 410 10|44 43 44 V-5 *7 250 42.0 0.0
36 46 6v S= 5 980 410 10| 7 17 2v N+1 *2 140 410 10|50 33 3NV-3 a2 150 40.0 20
3 21 4v S+2 ¢ A 480 28.0 14.0|48 32 34 V-1 *5 50 37.0 50(37 47 24 S+1 ¢ A 110 38.0 4.0
4 11 4v S+2 a7 480 28.0 14.0|51 39 4aV-1 vA 50 370 5021 9 24V-2 &7 100 36.0 6.0
5 13 4v S+2 +8 480 28.0 140| 5 12 3vS-1 s A -50 310 110( 5 12 3¢ O-1 *6 50 29.0 13.0
6 16 4v S+2 *T 480 28.0 14.0|14 13 4v N-1 2 -50 310 110( 8 19 2¢ O-1 *6 50 29.0 13.0
7 18 4v S+2 *6 480 28.0 14.0|37 47 3v S-1 s A -50 310 11.0(10 11 2¢ O-1 s A 50 29.0 13.0
10 12 4v S+2 ¢ A 480 28.0 14.0|38 49 3v N-1 aA -50 310 110(14 13 3¢ O-1 s A 50 29.0 13.0
33 51 4v S+2 v8 480 28.0 14.0|10 11 4vy N-2 s A -100 24.0 18.0|35 42 3¢ O-1 *6 50 29.0 13.0
35 43 4v S+2 ¢ A 480 28.0 14.0(36 45 4v N-2 +9 -100 24.0 18.0|46 31 3¢ O-1 *6 50 29.0 13.0
39 52 4v S+2 a5 480 28.0 14.0|44 43 4y N-2 s A -100 24.0 180| 4 22 2#S-1 46 -100 18.0 24.0
49 32 4v S+2 a5 480 28.0 14.0| 8 19 44 O= vlJ -130 200 22.0|18 2 2#S-1 ¢ A -100 18.0 24.0
50 38 4v S+2 ¢ A 480 28.0 140(20 3 4v N-3 s A -150 16.0 26.0|36 45 2v S-1 ¢ A -100 18.0 24.0
15 14 3NN +2 a) 460 16.0 26.0|21 9 4y N-3 *2 -150 16.0 26.0|38 49 3NS-1 *4 -100 18.0 24.0
19 2 4v S+l ¢ A 450 11.0 31.0(50 33 3¢ O+2 45 -150 16.0 26.0|51 39 3#S-1 ¢ A -100 18.0 24.0
20 8 4v S+l v8 450 11.0 31.0(46 31 4¢ O+2 ¥5 -170 120 30.0| 7 17 3#S-2 ¢ A -200  12.0 30.0
34 41 4v S+1 a5 450 11.0 31.0|34 52 3vyDN-2 &4 -300 10.0 32.0| 6 15 3#N-3 v2 -300 6.0 36.0
45 44 4v S +1 *T 450 11.0 310|116 1 5¢ O= v5 -400 8.0 34.0|16 1 3vS-3 ¢ A -300 6.0 36.0
40 42 3NN+1 a2 430 6.0 36.0| 4 22 5¢ O+1 v¥5 -420 6.0 36.0|/20 3 24 N-3 A -300 6.0 36.0
47 31 34 O-3 vA 300 40 38.0|35 42 4vyDN-3 4A -500 4.0 38.0|34 52 3vS-3 ¢ A -300 6.0 36.0
17 1 3v S+3 *T 230 1.0 41.0(40 41 44DV +1 ©vA -610 2.0 40.0|48 32 44#S-3 v2 -300 6.0 36.0
37 48 1v S+5 5 230 10 410(18 2 5¢DO+1 vJ -650 0.0 42.0|{40 41 3+#S-4 ¢A -400 0.0 42.0
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19 410 Basta kontrakt 20 4 K7 Basta kontrakt 21 a7 Basta kontrakt
Syd v EKKn3 3¢ SD-1-100 Vast v KKn9854 2NTV =-120 Nord vE82 6¢ O D-2300
oV + Kn10962 Alla ¢E5 NS ¢E
#1083 & ¢ v & NT #1092 & ¢ v & NT #EKDKnN9543 & ¢ v & NT
«DKn86 & K953 N7 8746 «Kn93 «E4 N46 6 85 Ly «EDKn1063 N 123 5 6 11
v8762  v109 S787 46 vD632 vE107 S466 85 vDKn10943 v6 S 123 5 6 11
+ K84 ¢ ED7 055687 +103 ¢ KD87 0967538 ¢+ D10742 ¢ KKn53 O1 107 6 1
*KD #Kn952 V55687 #D653 #EKn74 V96758 +10 »86 V1107 61
4 E742 + D108652 » K9852
v D54 v- v K75
453 + Kn9642 + 986
*E764 »K8 *72
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 18 34 O-1 +5 100 410 1031 45 3¢ O-2 a2 200 410 10| 2 16 6 N= A 1370 40.0 20
22 10 24 O0-1 +5 100 410 10|37 46 2¢ O-2 a2 200 410 10|31 44 6#N= A 1370 40.0 20
6 14 Pass 240 18.0| 9 20 2v N= a A 110 370 5.0(42 41 6#N= 8 1370 40.0 2.0
7 16 Pass 24.0 18.0|39 50 24 S= *T 110 370 50|36 43 3NS+2 vQ 660 36.0 6.0
9 20 Pass 240 18.0|17 2 INO-1 a5 100 33.0 9.0(37 45 5# N+2 v6 640 340 80
13 12 Pass 240 18.0(47 32 3¢ O-1 »8 100 330 90| 8 17 54 N+1 v6 620 24.0 18.0
17 2 Pass 24.0 18.0|49 33 INO= 46 -90 30.0 12.0(10 21 54 N+1 4Q 620 24.0 18.0
19 3 Pass 240 18.0| 6 14 2¢v N-1 s A -100 26.0 16.0|12 11 5& N+1 &A 620 24.0 18.0
21 4 Pass 240 18.0(38 48 24 S-1 *T -100 26.0 16.0|22 5 54 N+1 4A 620 24.0 18.0
37 46 Pass 24.0 18.0|52 40 34 N-1 *T -100 26.0 16.0|32 46 5 N+1 aA 620 24.0 18.0
38 48 Pass 240 18.0| 8 18 34 0= 46 -110  21.0 21.0|39 49 54 N+1 4A 620 24.0 18.0
39 50 Pass 240 18.0(51 34 34 V= ¢ A -110 21.0 21.0|40 51 5& N +1 v6 620 24.0 18.0
43 42 Pass 240 18.0|13 12 32V +1 a K -130 16.0 26.0|48 33 54 N+1 4A 620 24.0 18.0
47 32 Pass 240 18.0|21 4 28V +2 vJ -130 16.0 26.0|50 34 5 N+1 4A 620 24.0 18.0
49 33 Pass 24.0 18.0|43 42 34 0O+1 &5 -130 16.0 26.0| 1 14 54 N= v6 600 14.0 28.0
51 34 Pass 24.0 18.0|35 41 INO+2 42 -150 12.0 30.0|20 4 5¢DV-2 &7 300 12.0 30.0
52 40 Pass 240 18.0| 7 16 2v N-2 s A -200 9.0 33.0| 6 13 44 N+2 4A 170 8.0 34.0
115 3vy N-1 3 -50 6.0 36.0{19 3 3v N-2 a A -200 9.0 33.0| 9 19 3# N+3 v6 170 8.0 34.0
31 45 4v N-1 +5 -50 6.0 36.0| 1 15 34 S-3 *T -300 5,0 37.0{18 3 44 N+2 4A 170 8.0 34.0
36 44 2NS-1 46 -50 6.0 36.0|22 10 3v N-3 2Q -300 5.0 37.0| 7 15 44 N+1 v6 150 2.0 40.0
5 11 24 O= *6 -110 20 40.0| 5 11 2NS-4 &3 -400 2.0 40.0|38 47 44 N+1 4A 150 2.0 40.0
35 41 34 0= +5 -140 0.0 42.0|36 44 2vyDN-2 &A -500 0.0 42.0|52 35 4« N+1 v6 150 2.0 40.0
22 4 K9 Bésta kontrakt 23 4 K1074 Bésta kontrakt 24 & KKn63 Bésta kontrakt
Ost vE 4¢ S =130 Syd vE INTS =90 Vast v 87 44 N D -2 -300
oV + EKn10872 Alla + EKn943 Ingen ¢ E873
#KD73 & ¢ v & NT #853 & ¢ v & NT #1094 & ¢ v & NT
«D102 4 EKn854 N 5 106 5 7 ~ED52 4986 N7 7 767 #1075 8 N65387
v D87 v Kn654 S 5 105 5 7 v9862 K53 S77767 vD5 vKKn109642 S 6 5 3 8 7
¢ 954 ¢- 072785 ¢+ D5 ¢ K762 O556 76 ¢ K106542 +D O 6 7 105 6
#E1065 #9842 V72785 #EKn2 #D76 V56676 +D2 #EK53 V 6 7 105 6
763 «Kn3 « ED942
v K10932 vDKn1074 vE3
+ KD63 4108 + Kn9
*Kn *K1094 *Kn876
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
20 4 3NN+2 a5 460 420 0031 43 4v V-4 ¢ A 400 420 0011 22 54DV-3 &K 500 42.0 0.0
1 14 3NN= a4 400 26.0 16.0| 3 17 3v V-3 *8 300 39.0 3.0 2 15 44 S= vQ 420 40.0 20
2 16 5¢ N= & A 400 260 16.0| 8 16 2NV-3 *T 300 39.0 3.0(13 1 5¢vDO-2 4A 300 37.0 5.0
8 17 3NN= a4 400 26.0 16.0|10 20 2N O -2 vQ 200 350 7.0(51 35 5¢DO-2 4A 300 370 5.0
9 19 5¢ N= s A 400 26.0 16.0|11 22 INO-2 v4 200 350 70| 6 12 34 S= v5 140 33.0 90
10 21 5¢ N= 28 400 26.0 16.0|36 42 2 S+1 +Q 110 32.0 10.0 (40 50 34 S= vQ 140 330 9.0
12 11 5¢ N= s A 400 260 16.0| 6 12 INO-1 v4 100 27.0 15.0|41 52 4v O-1 a A 50 30.0 12.0
18 3 5¢ S= s A 400 260 16.0| 7 14 INO-1 vT 100 27.0 15.0|31 43 44 S-1 vQ -50 28.0 14.0
31 44 5¢ N= & A 400 26.0 16.0|32 45 3v V-1 *8 100 27.0 15019 4 2v O+1 4A -140 25.0 17.0
32 46 3NN-= Ly 400 26.0 16.0|38 46 24 V-1 s A 100 27.0 15.0|33 47 3v O= s A -140 25.0 17.0
36 43 3NS= *6 400 260 16.0| 9 18 2¢ N= 49 90 19.0 23.0| 3 17 3v O+1 4A -170  21.0 21.0
38 47 5¢ N= & A 400 260 16.0|13 1 2¢ N= vK 90 19.0 23.0|38 46 3v O+1 4A -170  21.0 21.0
40 51 3NN= Ly 400 26.0 16.0|40 50 2¢ N= v3 90 19.0 23.0|39 48 2v O+3  +J -200 18.0 24.0
42 41 5¢ N= v5 400 26.0 16.0|51 35 2¢ N= 46 90 19.0 23.0| 8 16 4v O= *J -420 9.0 33.0
50 34 3NN= a5 400 26.0 16.0|33 47 2¢ N-1 49 -100 12.0 30.0| 9 18 4v O= +J -420 9.0 33.0
52 35 3NN-= a4 400 26.0 16.0|37 44 2¢ N-1 49 -100 12.0 30.0|10 20 4v O= s A -420 9.0 33.0
6 13 3¢ N+2 4A 150 9.0 33.0{49 34 2¢ N-1 49 -100 12.0 30.0|21 5 4vO= *6 -420 9.0 33.0
7 15 4¢ N+1  &A 150 9.0 33.0|41 52 2v V= a7 -110 8.0 34.0|32 45 4v O= +J -420 9.0 33.0
37 45 3¢ N+1 &4 130 50 37.0|21 5 INO+1 %4 -120 6.0 36.0|36 42 4v O= a A -420 9.0 33.0
39 49 2¢ N+2  aA 130 50 37.0{19 4 INV+2 +3 -150 4.0 38.0|37 44 4v O= *J -420 9.0 33.0
22 5 3¢ N-1 v4 -50 10 410(39 48 2vS-2 +Q -200 2.0 40.0{49 34 4v O-= s A -420 9.0 33.0
48 33 5¢ N-1 *9 -50 1.0 410( 2 15 24 N-3 v3 -300 0.0 42.0| 7 14 4vyDO= 4A -590 0.0 42.0
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